Division de Nombres Entiers (D)

Trouvez chaque quotient.

(—150)+ 15 = 156 = (—12) = 19+ (—19) =
35+7= (—209) 11 = 120+ 15 =
(—150) = (—15) = 168 +12 = 380+ 19 =
(—33) - (—11) = 45 +5 = (—140)+-20 =
(—60) = (—4) = (—152)+(—19) = (—10)+5=
4+2= (—64)+~(—4) = 0+(-9) =
168 = 156 +13 = 112+ (—16) =
(—56) =8 = (—98) = (—7) = (—120) - (—12) =
755 = (—285) =15 = 80+ (—20) =
15+ (=3) = 91+ (—13) = (—195) =15 =
0+-0= 24020 = 2814 =
(—72) =12 = (—204)+12= (—26)+2 =
(—32)+4 = (—136) = (—17) = 153 = (—9) =
24+ (=2) = (—220) = (—11) = (—100) =20 =
108 = (—9) = (—304) = (—16) = (—153) = (—17) =
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Division de Nombres Entiers Solutions (D)

Trouvez chaque quotient.

(—150) =15 = —10 156+ (—12) = —13 19+(—19) = —1
35+7=5 (—209)+-11=-19 120+-15=28
(—150) = (—=15) =10 16812 =14 38019 =20
(=33)=(=11)=3 45+5=9 (—140) =20 = —7
(—60) + (—4) =15 (—152) = (—19) =38 (—10)=5=—2
4+2=2 (—64) = (—4) =16 0+ (—9)=0
16-8=2 15613 =12 112+ (—16) = —7
(—=56) =8 =—7 (—98) = (—7) =14 (—120)+(—12) =10
75+5=15 (—285)+15=—19 80+ (—20) = —4
15+(-3)=-5 91+ (—13)=—7 (—195)+15=—13
0+0=—-18 240 +-20=12 28+14=2
(—=72)+12=—6 (—204) 12 =—17 (—26) +2 =—13
(—=32)+4=-38 (—136) = (—17) =38 153+ (=9) = —17
24+ (=2)=—12 (—220) = (—11) =20 (—100) =20 = —5
108+ (—9) = —12 (—=304) = (—16) =19 (—153) = (=17) =9
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